SFI54E5H248

STI5EE 6 A 3 F K
== AEATILAEAFER
=Rl e 2 3 i
1| K |HAAE (RRER) -RRE 2 3
2 | £ ET&(60R) 2 3
KR FHEESTS
H TEKRBZ-HEEGL
JT A ah; £Y = 10F 1],
BB H - = BRI - S L oA 1200
EBch 2 aR |ﬁ§12:00~12:35
eack < BRAKAH12:35~12:50
5| A% BIRER SR () 2 3 2- 348 HEHAL12:55
2-34F 25 T 13:00
5B213:10~14:00
1ETHRET14:10
6 | u |EHEER~ 158 (K) 2 3 4
717K 2 3 4
8| K 2 3 4
9 | & 2 3 4
10| T |@#FIHEKXE
Tk =
121 B RBELEHE (S5R) 2 3
14| K |2FESEEFREHM (5-68R) 2 3
o] 5 . B
151 % TERRE -RIRE2R 9 3
EMEER EELL
Epgkﬁ 12:55~13:10
5| 13:15~14:05
16| & (F) 2 3 6fF 14:15~15:05
HR%E 15:10~15:25
=PE R €15:30~15:50
17| £
18| B |#E&Y
HEERBZ(1E~2-1)
EERE A (o 1R85 14:30~14:45
19| Al | SESEL(~278) k2 k3 FHs T 15:00
20 K]vw A2 A3
21| K |E8F#EZ (2—2~3%F) 2 3
22| K 2 3
1~ARRSEHE HER
#4812:00~12:35
23| & () 3 5 Bk H12:35~12:50
#847%12:55~13:10
ERGL/ TRSET13:20
24| £
25| H
EE 158:30~9:20
26| B HERkEZ1HE %) ;,.f.'. iﬁf 2/89:35~10:25
WXL ) = = 3/R10:40~11:30
&= BF| gﬁ[ﬁé 1:45~12:30(45%})
-‘“- == 12:30~13:05
L |BIREE2HEB s = Bk H13:05~13:20
27| () HE A Hm13:25~13:40
= /R N K
B2 Kl 508 13:45~14:35
& | IEf HFIE14:40~ 14:55
28 | K |EAiXE&E3HE %) 0l B gfig;ﬁgﬁ’?gs‘o&”
= vy AP .
HE B 52 716:45
#8527514:30~14:45
29| K x2 X3 HEE)~16:15
TH#5E T716:30
0|2 |HRER 1 ) 3 AL
TH L NREIRT BX=D), 56 17 v RER. mBERH |
3A(A) 14D ERIEE ) EMEER. REAKRH FIEMKRE(RIIE~48)
FAD 4B (R 14mDPkE(~68) 6H (H)BEFIEASR, &
T4AR|68 (R)EDFEER, ENTANBE) BOH, BEFEXS (P
78 (®)ENTANBE) ) 20H —EBH _
8H(1+)~9oH (H) B #FiE (PE I -5 220 () ~23H(H)BERAF RS JBERE




